“5%6=30,
Ao d=4e,
R
catb=c.

%48

2 hR
12.2 X Bk E

%18

1.A

2.(1)6°% (2);’*(131)40;

(3)—40x*; (4) 20,
3.-6x%°
% 2 g At
1.C
2..(1)2x% 6%y
(2)-2a*+3a’-d>
3.3xy
4.(1) =32 -3wy 30

()R =—4x? - 124%%

(3) 5= =—%x3y2+3*x2y3—%xy2.

4
5.0 . R =22 20— 4=x>—4.

2 x=3 i, JA=3%-4=5.

6.C
% 3IRE

1.B

2.A

3R =6a-19a%+12ab*-5b°.

4.8 R =202 n-1.

M ==2 B, i =—2x(-2)-(-2)-

1=-8+2-1=-17.

5.2

30.

% 4R
LB
2.A
3.2a> B-2b*
4.8 . )i =2x2-x—1-2(x>-3x-10)
=2xP—x—1-207+6x+20
=5x+19.
M x=—3 i},
JR=5%(=3)+19=-15+19=4.
5.8 (1)A=3x-1)(2x+1 )—x+1-6y°
=60 +x—1-2+1-6y>
=606

x+y=5 x=3,

?%
x—y=1,

(2)ff I R

y=2.

JIT LA A =6x7-6y’=6x3°-6x2?=54-24=

3 ki

BRI E
— JEEAE
1~4.DBBA
5~8.AABD
— BT
9.4y
10.247=5wy+2y>
11.60°-8x>
12.-7
13.-1.4x10°
14.-14
15.m4
= @EE
16.5% . (1)2(2x%—xy )42 (x—y)

=42y +a’—xy

=5x"-3xy;
(2)ab(2ab*~a?h )-(2ab )b +a’b?
=2a’b’-a’b*~4a?b*+a’b?

=-2a%b°.

17.88 . (D) =S (2x-a) (3x-2)=

6x%+(—4-3a)x+2a=6x>+bx+10,
- —4-3a=b,2a=10.
A5 a=5.
~b=-19.
(2)(2x+5)(3x-2)=6a~4a+15x—

10=6x%*+11x-10.

18.5% LR ALTR 0 A T A=K7 TR Y

T FR-1E 7 TE B T AR
=(3a+b)(2a+b )—(a+b )(atb)
=6’ +2ab+3ab+b’~(a*+2ab+b*)
=6a2+5ab+b*~a’~2ab-b>

=5a’*+3ab.

B LA AT B T AR (56%+3ab)

FIrK.
BERT
195 . (1)4 5% 2;5-4 B x-2.

(2)A 5 B REXT 1 AR

“A=B=3x(x+2)-1-2( %x2+3x—1 )

=304+ 6x—1-3x7~6x+2

=1.

cA 5 BRERT 1 BN
20.8% . (1D (-1 (a1 5
(2)x"-1;

(3)Jix=3"-1.

%18
2 hix
1.1 FAREILFAR
5 1 1RA
1.A
2.B

3.144,144,+12,+12

4.+11,+\/ 18
5.0%.(1)20.3;

(2)+100;
2
(3)1?;

(4)+6.
6.A

7.A

8.4V'5 ,7.16
9.13
10.(1)0.6;

(2)2.2;
5
(3)Z;
(V12 .
11.88.(1)\/441 =21.

(2)V12.96 =3.6.

(3)V15 =3.87.

12.A
% 2 iBAt

1.C

2.29 3\/ 5 ’_%

3.(1)6;(2)—0.5;(3)—;—.

INERERTIE |1 Hi

4.(1)11;(2)-12.643.

508 (DR IR T H ok gk

A 25%16x20=8 000(cm?),

WSCIE 7 A K 2 Tk K I K )

PRFRH 8 000em®,

(2)--3/8000 =20,

BT AR 2 b K A200m.
11.2 ¥
% 1 iRAt

1.B

23V7 -T2 A8 141414,

V9

3.%&:(1)\5,3”5,;—,

1.121 221 222 122 221+ (H&HA 12

AR A % 142);

L

2

3
(2)V7 ,0,3.1415,3+V2 ,\/é—,

L1121 221 222 122 221 (HF®H /A 1

ZEMRE S 1A 2);

(3)-3,0,-V64 ;

22 - 31
(4)3.1415,- - ,-0.3.1/ T -

% 2 igat
1.C
2.-6<0<\/5 <m
3.-1

48 . (DR =2-vV3 +V3 -1-

2021-2022 F 4
RN PR

(DA =5-(V2 -1)+(=2)=5-

V2 +1-2=4-\/2 .

3 hR
E AR E

— JEEE
1~4.BAAD
5~8.DBAC
]
9.m(ZFERE—)
10.2

11ERAME— n-2,-1,0,1 #B

12.<
13.-1
14/ 2

15.-V 2022
120221

= RE

1688: (127 V4
=3-2

=1.
(2|3 -v2 |[#2v2
=V3 -V2+2V2

=V3 +V2 .
1798 . &5 S AE RO B B an il

7R

(% 17418)

MRS b 720 0 A RO T Y

F 4T

g1l



@D mormatocvs <l

180 o2 HIE T AL 21, 2004y +
6 I TR 2,

cx=2=1, 224+y+6=8.

cx=3,y=—4.

Py =34 (42205,

25 HPE TR £S5,

B g2 (977 AR 5.

19.%% . (1) V400 =20(m),4x20=
80(m).

2 JEORIETT B S A J K 80m.

(BN KBS H 3am,
MR 5am.

HI A 3ax5a=300.

~a=x\20 .

Ba RN K,

~a>0.

~a=\20 .

S ARG KR 2(3a+
5a)=16a=16\/20 (m).

-80=16x5=16/25 >16V/20 ,

X BRI .

BENRF

204-\V'5

210 (14, V17 4.

(2):9-V17 /NEER 73 5% m,9+
VT NEERIT I 0,

m=9-\/17 -4=5-\/17 ,n=9+
V17T -13=V17 4.

v (at1)=man=5-V17 +V17 -

4=1,

cat+l=x1.
cakl=1 B e 1=—1.
cx=0 B2,
% 2 5
3~4 kit
— JEEH
1~5.ACACC
6~10.DCDDB
—JETS
11.-2
12.5
13.>
143 -2
1503 -1 8-V/3 -1
16.587.9
17.44
18.-6
= BEH
1988:(DVT 3+V2 . T
1.121 221 222 122 221 (HEHA 1 2

YRR I e — A~ 2);

3
(2)V7 ,0,3.1415.,3+\/2 ,\/é— ,

o

5 ,1.121 221 222 122 221 (HF A 1

Z AR R IG Im— A 2);5

(3)-3,0,-V64 ;

22 < 31
(4)3.1415,—7 ,—0.3,\/8 .

20.f% . (1)3x%=27,°=9.
=9 BT E3,
Ca=+3.

(2)(x+1)3=-125.

=125 (57 T RIS,

catl=-5.

x=—6.

21. (1) FE=V2 -1+V3 -
V2 +2-V3 =1

(2 )J?ﬁ:—4+4x%+2=—1 .

22. 5% 2a-1 WY AR 3,
~2a-1=27.

f#1F a=14.

“Batb-1 FEAT I 9,
~3a+b-1=81.

1 a=14 XA,

15 b=40.
.a+2b-6=14+80-6=88.

88 IR+ /88 .
230 (1)2-V2 .

(2)2m=2-N2 ] m+1>0,m~1<0.
mal |+ m=1 |=m+1+1-m=2.

2 mal |+ m=1 | BIEH 2.

240 (DD>,Q=,0)<.

5%=25,(V/22 )=22,
H 25522,

~5>V22 .

~5-V/22 >0.
A2 3 22 50,

V22
Y

S2
T

25.5%.(1)6;(2)n;

g2l

(3)V 14345+ +51

=V 1+3+5++(2x26-1)

=26.

26.8%.(1)\V2 .

(2)24 x=0, 1 B, IR Z4 A o {H.

P2 0,1 AT, 1,
—E AT AL

(3) x<0 B}, FEIFF BT
kAT,

(4)x PEAME— QI x=3 B x=9%F.

% 387
2 hit

121 BHiEE

%1 iRm
1.D
2.D
3.D

4.(1)x";5(2)107;(3)x%; (49,
S.ﬁg: ﬁ»] & am =g = uzi’

FTLA 3+m+2m+1=25.

INERERTIE |1 Hi

£ 3 1R

1.B
2.B

3.0D)a,b;(2)2,m;

(3)—%,1),(1;(4)—1 a2,y

4.(1) st

(2)5a%%; (3)-d".

52

% 4 %At

1.>1a% (2)a%

2.C

3 (D Paisn >,

(2) (my P +(=y P=(=y ) 2 ==y PP =
)2,

(3) (= Psam—aPsni=—a" 2

(4) (w—y )+ (y —x P=(x ) +(x—y )=
(o .

(5) (a=b)"+(b-a)+(b—a)P=(b-a)"+

(b—-a)+(b—a)=(b-a)".

2021-2022 F 4
RN PR

12.24*

13.8
1
14. 2

15.3%>2%

= BE:

1668 : (1)a75(2)a% (3)a%; (4)m’.
178 . (1D)JRK=at (=a®)=—a"%;

(2)JFE R =at x5+ (—a7)+5x10—x? 24
=04 5516116

=3

1888 (D= 2| x| 3| "3-

(2 3 \m 3
‘(3*2) )

3
=5

(D) (g L —(pm) T (p
=(p—q)+(p—q)?
(="

BESIRT

19.f#.(1).2723=32,

2205,
1S m=1. 4.6 -x+3=5.
W m BB 7. 3R D,
¥ 2 iRA EAtTLE (2)-2:8 16225,
1.B — JEFEE 232040,
2.4 1~4.CBCB QDS
3.01)x%;(2)24%(3)d". 5~8.CDCC - L4x=5.
4.f# . 10*=10>x10%=(10")>x(10" P= ZEEm ca=4.
2x3°=4x27=108. 9.2 20.8%: (1)D3,5;@+2;
5.5 . 1 3m+4n—3=0, FI15 3m+4n=3. 10.164* (2)-(4,5)=a,(4,6)=b,(4,30)=,
JIT L 8mx16"=2"x2 =23 4=23=8, 11.7" S A°=5,4=6,4°=30.
E3m



